Concept: a’ +b* + ¢ —3abc
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02+ b +C - 3ak (=0
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\_O\g-f- b’;—l-(}':_ go\bc_




al+b3+c3-3abc=0whena+b+c=

33( Atb-C=0 M ang 19?’_ 3+W_~,.o
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359 Ifx =2,y =1land z = —3,thenx3 + y3 + z3 — 3xyzis equal to
N x=2y=1 3 z=-3,ax3+y3+ 23 - 3xyz P&

AT 87
a) 6 % 02 d)s

EY+Z= +tl-3=0

UPTET 2017 Paper-2



360. If a = 2.361, b = 3.263 and ¢ = 5. 624 then the value of a® + b3 —
c3 + 3abcis -
3TN a=2.361,b=3.2633Rc=5.624¢% Aa3+b3 -3+
3abc T HATdd:

/a)((a—b)(b—c)3+(c—a)3 b)3(a—b) (b—c)(c—a)
0 d) 1

A+b-C=0 =)




3. Ifa=4.36,b=2.39andc = 1.97,then the value of a® — b* —
¢ — 3abcis \L[,‘56
3R a=4.36,b=2393Mc=197§a a® - b - —3abc

T HTed:
a) 3.94 b) 2.39 /,éﬁ) d) 1
| 2.3 3
A-b-C=0 =) A=b=C — 3ab =0
/
G
+




262. Ifa=1.732,b = 3.217 and ¢ = —4. 949, then the value of
(@ + b3 + 3+ 3abcis
3R a=1.732,b=3.21731c=-4.9498¢, ava® + b3 +
HbC 3 + 3abc FT A
a)o %&lbc c) 3abc d) —6abc

93( Atbt=0 = of"+g +8—Z«bc-—o
OR
3
a.'\'k}'*&:go\b(_




263, If a =4 b = 1.73 and ¢ = 5. 85, then the value of
— 3abcis
—2000C Ma_412b_1733ﬁ1c_585% dra® + b% —
c3 — 3abc &T AM:

a)o b) 6abc c) 3abc yd(—&lbc
2 2 2%
A+b-C=0 X+b—-C + 3ob =0

2
O&gﬂtb —é = —%abg
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264. fx+y+2z=0, then—+2 +Z =7
yz = zZx

z
2 o7 g
M x+y+z=0ga =+L+= =2

yz  ZxX Xy

a) (xyz)3 b) x% + y?|+ z* c)9

2 2

(-——’X?-l' +Z

_Bﬁ‘ié— ‘—{&’1“
%ﬁk 3
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2¢5. If x + y = z, then the expression x3 + y3 — 73 will be equal to
IR x+y=2zg arx3+y3—2z3 &1 AL
a)o b) 3xyz %Sxyz d) z3

3JL 7C+y-z_—.o 2)@%@2.—-0




266.1f p, q and r be such that p + q = r and
Y- pqr = 30, then what is the value of
P*?, 1=0 p’+q°-1°
. ﬁp,qﬁh’rﬂ'&ﬂﬁ%p+q=r
3 % .5 ~ pqr=30 @, @ p’+q> -1
=) P*?‘Y—‘aPﬁ, FT AT F4T §:
a)o b) 90
=-3 7(30 %90 d) Cannot be determined
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267. If ‘+’+@ 0, then a relationamong a, b, cis :

mas+b3+c3_0%a’rabc#wm-%r%?
a)a+b+c=0 (a+b+c)® =27abc
c)a+ b+ c=3abc da® +b3+c3 =

’l_+~3 y 70 3*32«
= oub+c-—?=<l 6"
3
= (0+b+L)‘-37'O*bC

D



268.If a3 — b3 + c3 = 0,then (a+ b +¢)° is equal to:

Qﬁ—O g A (a+b+0)° =

a) 81abc z 729a2b2 2 ) 729abc d) 81a?b?c?
' 9 1-2, =DMz
S |
Qtb+ (=302 b2 C
2
2 (Qtb+() = abc
6
D Qb)) =129& b >




264. If a® — b3 —c3 = 0 then a® —b9—c 3a3b3c3ls
afx @9-6)-E9= ok, a‘r a’ -3a’h3c* ¥
a1 % Yb)2Z d) 1
’L"Z—-Z:O —="-' —3 —Z = 3'1—92

- 325>
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Telling a + b 4+ ¢ = 0 in diff ways




270, If x =a— b,y = b — ¢,z = ¢ — a, then the numerical value of the
algebraic expression x> + y3 + z3 — 3xyz

kiricy xz,g—g,y:,_g—g,z# gar B3+y3+23-3xyz

Sl HATed:
a)a+b+c %) c)d(a+b+c) d) 3abc

*+Ytz= 0




1. Ifx =a(b——c), y = b(c— a), z= c(a— b) then the value of
B+ + ()i y 2Lt Z

W x=a(b-c), y=blc—a), z=cla-b) ¥ ar () +
) () o

c

xyz 3xyz 2xyz
a) abc b) 0 /abc d) abc

SSC CHSL 15 Nov 2015 S3



2. fx=(a+b—-c),y=(b+c—a)&z=(c+a—b),then
x—a)*+(y—-b3+(zZ-0c)3=7

g x=(a+b-c), y=(b+c—a) 3IRz=(c+a-»b) &,

A (x—a)d+(y— b)3+(z ¢)® FT AT AT HY |

3(a—b)(b—c)(c—a) b) 3xyz
c(x—a)(y—b)(z——c) d) 3abc
X-2F b-C 3 (x-a) (\a-b) (2-)
@-9= o

@-9)= a-b =3 (b)) (Ea)e-b)

D —
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213 fx=(b—-c)a—d),y=(c—a)(b—d),z=(a—b)(c—d),then
the value of x3 + y3 + 23 is equal to:
I x=(b-qa-d,y=(c-ab-d,z=@-b(c-d &,
A B +y3 4+ 22 F AT R ¢ -
a) xyz b) 2xyz 4¢f§;yz

d) -3xyz
X= boC — o -Col+Cd
0= P-cd -abtad

+ 7= 0¢ -0d-PCibd

X"'%-FZ: 3

D —
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2. (a+b—2¢)%+ (b+c—2a)®+ (c+a—2b)isequal to:
(a+b—-2c)3+(Mb+c—2a)3+(c+a—2b)° eI ¢
a)(a+b—-2c)(b+c—2a)(c+a—2b)
b)2(a+b—2c)(b+c—2a)(c+a—2b)

3(a+b—-2c)(b+c—2a)(c+a—2b)
d)—-3(a+b—2c)(b+c—2a)(c+a—2b)

3(




215. If x + y + z = 6, then the value of (x — 1)3 + (y — 2)3 + (z — 3)3is
M x+y+z=6¢ga (x—13+ =23+ (z2=3)° & AE:
a)3(x -1y +2)(z-3) ) & b)3(x% 1)(y-22)(z - 3)
)3(x—1)(y-2)(z+3 A -1Dy-2)z-3)

Otb+( = X-1+Y-2+2-3

=917 6




276. Out of given responses one of the factors of
3 3 3
(a2 —b?)" + (b2 —c?)" + (2=a®)is

ﬁl’ﬁl"ﬁ"\gHﬁFI;'?_(;Z—bz)gf(bz—c2)3+(c2—a2)3 &T Th
?
; {a+b)(b-rc) b) (a+ b)(a + b)

c) (a—b)(a—b) d)(b—c)(b—c)

*Yt2- O
3 o@;{")(ﬁ‘—\?} (Ga)
= (Q'\'f)(qu) (6+Q) (p-c >\1 (th\)((—q)




377, Thevalue of [ (a2 = b%)” + (b2 = ¢?) + (2 — a?)’| + [(a— B)* +
(b—¢)3 + (c— a)?|isequalto: (given a # b * c)
(a2 = b2)* + (b - ) + (2 — a?)’| + [(@=b)® + (b—0)* +
(c—a)®] &1 A1 FaF W &
/ﬁa +b)(b + c)(c+ a) b) (a® — b?)(b? — ¢*)(c? — a?)
c) (a? bz)(b2 + cz)(c + a?) d)(a — b)(b —¢)(c — a)

f@;ﬁ (b= )(Ea)
75 (067 (b-0) (¢-o)

D — =



278, Simplify Fhe following exp(ession.
(a +h W fAFeT sUss WA HY

o A (-)EZ)
2 M@ C)(ER)

5(a=b5)° +5(b8=c®)’ +5(cb=ab)’
2(a3-b3)42(b3-c3)* +2(c3-a3)°

a)g(ae’ + b3) (b3 - c2)(c3 — a?)

A2 (@ +b%)(b® + ) (3 + a®)

c)g(a3 —b3)(b3 - c3)(c3 + a3)
d) g (a® — b3)(b3 + c3)(c3 + ad)

SSC CGL 2020 Tier 1
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979. The expression (a +b—0c)3+

(G‘-l—b’-—C_,j)‘i' (Q"_b*_c.’)g"'ébzﬁ.‘)z (a— b + ¢)3 — 8a3 is equal to:
«x ‘3 Z

sgsid (a+b—c)®*+(a—b+
¢)? — 8a° 3WF TN ¢

/%a(a b+ c)(c—a-—Db)

Y3a(a+b—c)(a—b+c)
“’Hz)1-2=o ){6a(a+b—c)(a b+ )
)()\3a(a—b+c)(c—a—b)

3(atb-) @‘-'?*.Q)X —20c

"







2(a%+b%—c®)

et LI T
a) 2 -2
1 d)3

SSC CHSL 9 Mar 2020 S2 i



282 . If x*. xP. x¢ = 1 then the value of a® + b3 + c3 is
IR x%xb.x =18 @ a3+ b3 + 3 FT A

a) 9/ b) abc

o+b+C o)
W =%
=) Qtb+(=0

28



283, Ifx +y + z = 0 then the value of [y_;_xr + [Z_;_yr + [x_;]_z]g is:

=1 [Z_x_y]g + [x—y—z]?’a;r AT

a) 24xyz b) 24xy¥z{fc72b \%d)xyz
ZAK=-} /,’0
d+b+C = )y /é ?<"'/’ "jfj{’%l‘ "@*’Q’]’rz)
-0




23Y. If x = 27 thenfind (x —p)3 + (x — q)3 + (x — 1)3 —

afg x = pra g ar (x— P)3+Lx—£l)3+(&_/)3
) x

par3x= 4 D) p+ g+ 0
Otb+(=2X-(PHtr)=0

3x= PYQr
=) 0ep) Qe )=

3(x —p)(x — @) (x —1).
3x—p)x—q@(x—71)

d)3

D —



285. The value o

(0.545)(0.081)(0.51)(5.2)
(0.324)3+(0.221)3-(0.545)°

‘. bbj1 € X3

f (0.545)(0.081)(0.51)(5.2) .
(0.324)3+(0.221)3-(0.545)3

&T AT IdT FI?

d)-3

?
Q+b-C=0 =) > +bC=—33bC

2=
Y a6
=BU5X, 04X S % 552

_ X ) =
/éx,aﬁg @x%

SSCCGL T2, 12 Sep 2019
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(a—b)? (b—c)? (c—a)?
(b—c)(c—a)  (a-b)(c-a) (a-b)(b-a)
(a—b)? (b—c)? (c—a)? T
(b—-c)(c-a)  (a-b)(c-a)  (a—b)(b—a) T ’

a0 3 o d)2

(a —b)ng (b-—c}2”+ () >
(@) (b-O) (o)

= é@;b)ng
(6=

D

286, The value of expression




(x+y)3+(y+z)3+(z+x)3 -17xyz , .
+y)(y+Z) (z+x)

(U)3+(§-"Z)3+( —17xyz i
I x+y+z=0%, ar TSI T AT § :

287. If x +y + z = 0, then the value of

a) 3xyz b) 4 c)o0 2
A+b+(= 2(Ary42)-= Nty
HC= A942)=0 . S(X*v)(g)n)tz»fx) -17y2
lo Q(Jc‘{])(nfz)(z -m)
')(‘\'n-\—z_:,b %Na’z ; S

_ - —| 2 _ 2
=) X*\a—_—z _\Qu‘a L_)Ua k’f&‘a—z
<) Y2 =—x d
= 4% =Y

D | TR
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